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41 (ML ™EAICY o|atm [7Ictal=statl 12,000 | 1 12,000 [ 10,800
42 |QICHS AXTL QHELQ JtRC|o| BHF | = oasaict (M2 07| 12,000 | 1 12,000 | 10,800
43 |&Z7)|(Hatchet) Azl E2& [BHYLS2| 15000 | 1 15,000 | 13,500
44 | oM SLE SAHR Y| oM@, = YU|ooisexeoct| 15000 | 1 15,000 | 13,500
45 [M[H|3 022 AHAIE FEY | 9,000 | 1 9,000 8,100
46 |TES0| E7|0f, &XH weoN Q| A 9,000 | 1 9,000 8,100
47 |51&0| PRl ] 17,000 | 1 17,000 | 15,300
48 [fIXME H|o|#z| THZ | 12,800 | 1 12,800 [ 11,520
49 A=t SOy dojoteazezl FE 13,000 | 1 13,000 | 11,700
50 |7tLtCHe SEQUCEH XE | Mel=&| 12000 | 1 12,000 [ 10,800
51 [71K7F EHEH -QEYEE 0k20| 2| = =22 | MQU=F | 11,000 | 1 11,000 9,900
52 [w ZEO| EMEN -QEtEE 0p20| 1| = =22 | MQI=F [ 11,000 | 1 11,000 9,900
53 [AI7} H4SHH HEHE S451H| =2 W | M{=3 | 12,000 [ 1 12,000 | 10,800
54 [xglo| WZ2HZ2 LYY 0F80| 3| = =22 | Ml=& | 11,000 [ 1 11,000 9,900
55 [cHAl Abafshe 22, M Atatste 0f0| |22etx szara| A2 D I|[ 10,000 [ 1 10,000 9,000
56 |OFEXE 20| g2l Aole ciptgz[MEED7|[ 11,000 | 1 11,000 9,900
57 |Z8740| EE OFXAM 2ralg |ME5E307|[ 11,000 [ 1 11,000 9,900
58 |XITet SO orezjor o=ert M2 7|1 11,000 | 1 11,000 9,900
59 |[gr7iCH 2zts) Hhe(ofl AjZl a2f ojofz||  Z 0|3 ot 4 11,000 | 1 11,000 9,900
60 [0f7|= 2t =440|0f Aska  |AMAIEETAY 13,000 | 1 13,000 [ 11,700
61 |[HRHF FMS I &= X Ol & B 12,000 | 1 12,000 [ 10,800
62 (& 2HE0] F&= OfHX| 4= Sl 12,000 | 1 12,000 | 10,800
63 [BX 220|2 Ya H{A x2< [ =AM ] 12,000 | 1 12,000 [ 10,800
64 |2 o 4F YHE &H| 8,000 | 1 8,000 7,200
65 |EEHI +HO| Mot [ZI2=E2|| 12,000 | 1 12,000 [ 10,800
66 [FILIE ZOtA 2Ixo| ohEl|ojC|o{&H|| 15000 | 1 15,000 | 13,500
67 |E5=& Che|of (X =g 7|Fet folX||HM7HelHtE]| 11,000 | 1 11,000 9,900
68 |LHZF MY o|Ct ¥y 2| 9,000 | 1 9,000 8,100
69 |E=d2 HY 24 2| 9,800 | 1 9,800 8,820
70 [2¥=2Y MEmE a4 2| 9,000 | 1 9,000 8,100
71 |ZOLX|2F Ha A7 FaRSpe A 12,000 | 1 12,000 | 10,800
72 |NE BLE 33EA YA 2| 12,000 | 1 12,000 [ 10,800
73 [o}7] E7|et M&alR HEY | 9,000 | 1 9,000 8,100
74 | 4™ HE MAE de(z| 2| 10,000 | 1 10,000 9,000
75 |F2F218E MAEEH AR &0 |ApAEZ®AY 10,500 | 1 10,500 9,450
76 |4 1Y0| 2EE g2 24t 9,500 | 1 9,500 8,550
77 (ol W H2tMy: DO| Et2o| MEH Qi 00| EFE [MI§olHHZ| 11,000 | 1 11,000 9,900
78 (QIEO A|ETtE E dotel | I2IAME[ 12,000 [ 1 12,000 [ 10,800
79 |FH AS 43 [ Mel=3 | 11,000 | 1 11,000 9,900
80 [2IEA| (Because of Winn-Dixie)  [Kate Dicamillo| 2EH|LEA| 14,000 | 1 14,000 | 12,600
81 (M & g A7 Ols= | Mol=& 9,500 | 1 9,500 8,550
82 (0] MEfa ojteet =gl MOl =T 9,000 | 1 9,000 8,100
83 |l He ZETN oLtz E AX|| XD 9,000 | 1 9,000 8,100




84 [ZmLel ZHLel ZHLIol R SMF | Mel=a | 12,000 | 1 12,000 | 10,800
85 |2zt =21 Eb A At | 10,000 | 1 10,000 9,000
86 |zt =22 Ef & A | 10,000 | 1 10,000 9,000
87 |€&{et =23 Eb A At | 10,000 | 1 10,000 9,000
88 |2t=0| a3 2| 11,000 | 1 11,000 9,900
89 [ZML|7} Attt gois  [AlSFUY 9,000 | 1 9,000 8,100
9 |(Y:tOoRtERE EE ot [=oi=zoizlo| 9,500 | 1 9,500 8,550
91 |Z[19| H=, %o HIZ F/4 B4 |=olEoi2of 9,500 | 1 9,500 8,550
92 (Ot &2 MEZ0|of gMol [AlsFY 9,000 | 1 9,000 8,100
93 [7HLtE2|7t == 5, LHHEEIO| MM O|AW |=olgojioll 12,500 | 1 12,500 | 11,250
94 [EE0| M =&0| HE3S| |[AA=s=A| 10,500 | 1 10,500 9,450
95 |2& ZtCt HEM [ A2 11,000 | 1 11,000 9,900
96 | &KXt it 7HO| K 2kA] CHE 10,000 | 1 10,000 9,000
97 | &7 d4asF =2 11,000 | 1 11,000 9,900
98 |7HX|2t &~EO|2| =171 =0| 82 |AA=smAl 10,800 | 1 10,800 9,720
99 [F7| ot ol 2 +=¢ ofojp) az= zma MOE=m2 | 10,500 | 1 10,500 9,450
100 |&0f OrAZ M7 0z MA=x"| 10,500 | 1 10,500 9,450
A 00 [1,126,200 |1,013,580




